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General Instructions to the Candidates:

i) ollaror&sA uEL MugM] sr85NBA, alfieicors
allew O wemMl&DDA suswCauwll BA o Aar
This Question Paperis descriptive type in Degree Standard.
209@ ) EA
sugeaulNsenie
2 Aer . gG6os DA F)CossA @IMulE, = N&sNsv
sugalle srMuE{L{Asar O IM]sCoer @geucresr .
The Question paper is printed in Tamil and English versions.
In all matters and in cases of doubt English Version is final.
III) [ORIEEENE P SLPFHOTS aill
BYED JeEE Rl ulem ¢ pullesverwve
wsHIMEOLYosA  op

||) GMNGW(?‘N$;;5C‘N6‘!TC‘NW %Na;iﬂsv

@C‘ru«’:'rrr¢$§sum(3ﬂ'y
) EA
sTFlaNws )5 0rs8oeucr SesTluIOmas
&sMuL_alles»<esv.
There is no reservation of marks for neatness of execution
and correctness of spelling in respect of this paper.
uNfict - & SECTION -A
(0158 FImIw SeTeUlICE eulemoL WeTi&$ A eUIGTOT 6UeM-8)
(Very Short Answer Type)
i) eAcacrEn)DBA 30 Qosor) s ZE&D wilscrwe
aulew L wieml&s & A.
Answer not exceeding 30 words each.
II) AT aulesr®reul) FA SAE s ML YosA
Each question carries three marks
i) eesorfL&sMUELAsr @MuSenos)
sTe»CeuCow DA @Mu  auleoror&s £ &D wELA
allew © L wieml&as E A.

Answer any thirty questions only out of thirty five questions.

aullssror&serie

(303 = 90)
UNIT -1
1) ‘QoFfEsm et OTHAVA D QLW FwWI@ BoTL aAEE
wer)mMuEL e AsuorT&?

How was the name Madras State changed into Tamil Nadu?

2) QosfEenosr wWoTBEAVISIVE Fevs Gui&sNsealE 5)em0s
sTEE aulartrsgOsvINsA QcesEguwiord oeudsencerM Joip
@gIA -@&®)ewom pAlwerwMuf{$ .

Avinashilingam Chettiyar can be counted as ‘The Father of
library Movement in Madras State — Justify.

3) daror o L Fug&swCswlE @&swS saubewogs &I
&swors swars. SKetch the importance of the Poona
Pact.

4) 5JporEgé& @encsulE @z @uelsamoar&

Do IMuNL s
Point out the Chief features of the Carnatic music.

5) 1964 oA 9% { 2 et UlIr&senOsTenCw THAJECHOTAST
svore usNJ sorZEsMfi a{$s pLaug&mossA woremOau?
What were the measures taken by lal Bahadur Shastri to
tackle the Food crisisof 19647

6) @#H£&Asswoar @EC Tt osie oeisom)

@lu&as$'¢_r>(ﬂ/E uN&New Cer& Do IMullL s

Point out the Aligarh Movement’ role in uplifting Muslims
7) 2°Te0NWAE suCrTevCruor& ufe%%Crem e g/ BNE@)s ?
Why did Kallian WallaBagh Massacre take place?

)&% Slon 3 g5 O ¥

Adda247]

FOR ALL ASSERTION & REASON TYPE QUESTIONS

9) QouYoserifE CowAucTEgG)DT Convl o9& Q°sor% L su)s
FEL_ NsA wrem©eu?
What were the acts passed by Nehru Government for the
upliftment of women?

10) FS5 &‘l'”JgiﬂﬂT$'¢_r> @lu&as$g>®7)® m#Feud &) r
alSworsorsfiE @& ur LINSE e @ eor ®¢ a5
Mention the important contributions of Ishwar Chandra
Vidhya Sagar in social reform movement

11) ‘55& BOTEQWSSAE s IpM]sewCer suem s
Write the significance of “Kathak” dance

12) 1885 oA 9, % { 5°TN&sr#E sEsCwle @sA
worpord @As»Cuwle [_F)L$§MLJEL T AE?
Why was the First Congress Confewrence held at Bombay in
18857

UNIT - 1I

13) X soofEp 7% Y  afEp a%e»oswr all 10% Dewom) A, Y
sT/Em sT1%ewrl/E 5 IM] 1306w Cw el 10% 9 BNswOTHEEA @)
Msore, X £ wsIM] 1% s
If a number x is 10% less than another number ) and y
is 10% more than 130, then find X

14) 91 vewr$ ogoTewCswlfE 1WPsoTar sarmeuEguiCTsT

@s&EL
4

Qo5 0Tem O wille uDBsAwoTSA. suEg eud A ) EA &5Orev

s wer 1% wasIMule FwA stare, o) e n& Hor%s

The simple interest on a sum of money is 9 of the principal.

InMulLs Trace the significance of the Swadeshi
Programme of Gandhiji?
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Find the rate of interest and time if both are Qoo L&sMuEL Aar
numerica”y equaL Qowerds Qs 900 srale sutrTLewts, seaill ) EA
15) oM 1 #£ 5855$59E alELA 140 cm. o] woswrl GorMUIE Qosorensvullentamd& sHoremTEA.
Goprdsile 66km Goausbewos 585 au$ F&asrA A
Gouer  abgemear &) FIsA M pIw$sie
aYuf{$ A? Gaduy
The diameter of the wheel of a bus is 140 cm. How many
revolutions per minute must the wheel make in order to
keep a speed of 66 km per hour?

The following is the pie-chart showi

smiLT®

16) a:b=5:9:b:c=4:7 <5 @TIMulAE abe - £ wg5IMew U &OT %5,
If a:b=5:9:b:c=4:7 Find a:b:c

17) ®EL& srorsfiul sem&slwe u%]ssnoar sl
Write the mathematical properties of Arithmeticmean

18) 1T FLALSSIE 2005 9, %g)sorear QoFeOE
aleaurA s°@&s5°TPHBA auEL sueworuL $s9e

UTL NS

ng the expenditure in the
year 2005 of a family. If the total expenditure is 900, then
what is the amount spent on food, rent,education and
savings?

Savings

Clothes

Rent




19) 91 TP awsnosr LUsIG suEge wasMEou)I ) sors
waenld sNsNwWMD s BoTEserlE eulurA G0

oxsorL&sMuUELAsar
SN Awill 6

orEsem Car
Ms 34|56 »

el o BlsA
BoTEserlE

o1 %0 e5o1l & 55

ozl 15 | 32 | 56 | 19 5

T %0 ewo1l & O 55

sTeuBor DA pIleusw r FweucruM] @s»opwlie
Goz))@osL&TA

Gouor  geud Tewom)s uEFsA 5 porEsA 5N&NwlM&s
Bs@BbsE et EeT?

A Hospital records indicated that maternity patients stayed in the
hospital for the number of days as shown in the following

No.Of days: 3 4 5 6 More than 6

IfNatmatieadsselected! Bt raBdomIfid tH€ probability at the

patient stayed at least 5 days.

20) v morgule 1 s9aM] 3 u&epos, 2 BwA, 4 wEsA u)
A 2 Asrerr. 2orguwilev®M) M W ewos af{$sore o

L& CFwWCTHEBCauCT g€ W EFarOTHE8euCrT @IMus D
Bpls@psE woOr ?
A jar contains 1 red, 3 green, 2 blue and 4 yellow balls. If a
ball is chosen at random from the jar what is the probability it
is yellow or green?

21) 57Goy csorL&sMUELAar B sreusNaesrldE

alfieuor&sbewos sr¢A

(<) CD-ROM (=) EEPROM (@) DRAM
Expand the following memories:
(A) CD-ROM (B) EEPROM (C) DRAM

22) 595% L s/Epore afen? 9] 5980e0T o1 % 1oN&as el
€r$g>szr)<3’so‘r B985 Y% LsA 2 Aeresr? EBCDIC st/ELSA
aulfienor&sA st er?

What is a nibble? How many nibbles that a kilobyte
contains? What does EBCDIC stands for?

UNIT -1l

23) ovisswoar &BBA QCFUas5 )T FevswOeu GoaorM]
sTAOTE 2 _s¢Hm ?

Howdoes detergent soap help in cleaning the clothes?

24) o) ol 9, %L aEpoTEe sifEen? 9B wsIMulew O oj5E
Sl 9ie0B@oxorL 5T[%

What is one light year? Give its value with units is Sl system

25) v @svoswr sEL wVEGO58sNuler , 10IE Go58D
HIUnew Cerr LOTHSANEDA HOTrewriaA wOTenOeu?

What factors affects the capacitance of a parallel plate
capacitor?

26) sowoar&GescresisA sAacrg
susw CsMu{ $sMu{ sV EDear? pAQTED ) DA spJ
2 0rrentA Y%

How are herbicides classified? Give one example each

27) sevcwvwe o M] (GosorgwA FGoarcrsnorf) pfie ss»or)
Asv . 9 wilvPsEamO (o)) HOTrSsEemOw (=)
5L 5V PsEem 0 o Aergr? srrestA ®¢
The Table Salt (Sodium chloride) is dissolved in water. Will
the solution be acidic?(or) basic (or) neutral? Why?

28) QoFe GosorEucr{ stEmore eriesr?
9&EBoHOTELCTEs» O L. @A OT ) HeuJsA
w©mreud?

What is cell theory? Who proposed the cell theory?

29) sauilfi pasver&s$sie uwEuL$sMu{A =EE
SVEBDE sTaulsenCar JA Seu)d) AL 585
vwEsemCer JA Qouwfi{s
Give any three molecular tools in gene cloning and their
respective functions.

30) Gouomd allwoard - suswCTwIg
Define Bohr effect

31) uore ulew Ml @mAAESA st/Epore eriEesr?

33) wI) QouorMIA seup@rer wwAEu>TL (Drug Abuse)
stlEpore erfEes?
What is Drug Abuse?

34) 906V WML - susm‘:"gu_;¢.‘ACid Rain’ - Define

35) o1 % wiule aSsswoar &% wI&sA GI[
&DBAGTE s em et Hlevsp sT%LI&SA T Qs T 61%L0lem ©wi&
D&am ? ASCIl st/ EusE aulfieu©r&sA st/Esor?
How many bits does a byte contain? How many bilobytes
does one megabyte represent? What does ASCII stands

for?
uifid - 9 SECTION-B
(RM&ASHLDCTEH 6uUled Lwemi&$ A 6uUlerom euemoss)
(Brief Answer Type)
$mIM]: Note:

i) eAQeacrq alsrcraldPA 120 Qosor)s &S
wisorwe el L werl&sEA.
Answer not exceeding 120 words each question
i) Aol alarcral)FA EL wsIMAoLYosA
Each question carries eight marks
iii) @esorL&sMUELAar us900saE{ alaror&serie
sTew CeuGowr P A g em Cevr)
aulesror&s & WELA allewe L werl&s g A.
Answer any fifteen questions only out of eighteen questions.
(15X8=120)
UNIT -1
36) szs @EDIDI5NDDT & SEsA
BoFemCeusem Car aulfieuors afl &
Elaborate the services of the Justice party for the upliftment
of the society
37) 1993 oA 9, %L ugscrudror$ sELSs5UE sApM]sen ot

<24I o w

%U&S
Discuss the salient features of Panchayat Raj Act of 1993

38) 1953 oA 9% g sl o)s9
worpIevA 2 Tleuor&sMuEL. ?

Why a separate Andhra state was created in 19537

39) SAroreul porL Q;D‘?ﬂ$g, F.Q%eu.ror @oufiworfi/ s9qT
$swe aumOralemer s IMulLs
Assess E.V.R Periyar's conceptual
Dravidanadu

40) 509ps$59%e  ‘QcucrEL sEL{se;
PP &sMuEL ?
How was the socialevil of ‘Pottu kattuthal’ abolished in Tamil
Nadu?

41) GosEswosar worpisvdsie u)Eouor&D acrsd

BIevwCTeiu @swCpWlE a&FNasA stAsulsA B

framework  of

up&sA sTAsulgsA

&sMuUE L euor?
How was the remains of the repressive feudalism done away

with in madras state?

UNIT-II
42) 5 ;$59%E oe»erd u&sNsEA 25% sud

$s9e os0sworercre,urMusarsul FHUB wer)pPewog
&s°oT% %

If each sideof square is increased by 25% Find the
percentage change in its area.

43) 9r%{ a%selE
<2 @) MulAE o? .@ouom.Lp,
®ELS$ 0ogoirewcs BDosEA o a%
MUl w)QemorTq] 1% em» & HmesaT¢E A
L.C.M of two numbers is 14 times their H.C.F The sum of
L.C.M and H.C.F. is 600 if one number is 280 then find the
other

44) v srorsfiulfE uslssnoar alafi&sEA
Explain the functions of an average

45) 7 40

Uem»

w NG 10?.Q°u®r.eu
w? .QOUCT.6u sull/E

280 <=5 @Ml

. @oucr. 14

s rIA  wenCeareul  opereuA 70 euws

5
o wiG@orord @MMMus ) sorer pNs@pad 0D EA 50 euwigsOrDA



What do you mean by sex—linked genes? 13
32) Gosor orEssnoer opEGGECsCrL OrEsemls0 ) sewieu/E 80 euwr  eusw©Or o wl@ororL @IMus ) sCmer
Goaugtu{$s9& ®¢ pAs@p5E

Differentiate codons from anticodons
7 9TA. 57@Qx% L pNs@sHELHm & T Yo%




9) Q% L COouMIA 2 wlCerord @IMMug ) & reor

B5@p5E =) wew ereul WELA o wl@orord Gl
Mugdacrer pIs@ ss¢ @) oTlan wELA

o wl@orord @IMMus ) sorer pUs@%5%E

Dewom)s uvEsA »Meuromr o wl@ororL @II
Mug ) sorer ps@psE s TwenI)ewOm& &OrerEA.

A Wife who is 40 years old living till she is 70 with probability

as the husband who is 50 years old living till he is 80

13
with probability 7 Find the probability that (a) Both will be
alive (b) only wife will be alive (c) only one will be alive (d)
atleast one will be alive.

46) 51 ¢ Go585$59/E QoscrAsteren ol sTAsuCTE o wJ$s
@glA?e Dpa$ afFlsEA.
How can one increase data storage capacity> rite about it.

UNIT - 11l

47) Fewop sLbsNwle vwEudLSsMuLA P- susmos
wor&seariyr Yogen Cer& Do IMulL. @ew eu I Tswom
sLSs5Nwlewoer wor&u{$ A Gouor
QOFUSIVEDAE ugs el&EO 50 Tem O euuilest
D) Qegluworaiwudsie peadCL e ugEA
wor&ud$ A pls@eailswar auler&D
Mention any two materials used as ‘P’ type impurities in
semiconductors. What does it do when doped in a
semiconductor? Draw the crystal lattice disgram and explain
the doping phenomenon in Germanium.

48) a;‘ii’rrJCg‘ii’uOrru'%L$gyiﬂﬁE SworfiM] w) EA vwEsener afl &
Write the preparation and uses of carborundum.

49) &auors GosorEuorf susworwE$ o  adAsuCrTe
&auory SL&®E QoucTE$ worgEuLsIm
sTELemOs aller&Ds
Define Respiratory Quotients (RQ) and describe how it
varies with respiratory substrates.

50) 1GororGosfiGoworg& QoFesarisvd
1M D GoxsfiGoworg& Gcge stAsucrg
Gosuggu{sIm ?
State the differences between eukaryotic and prokaryotic
cell.
51) Goutrew©s QCuCTIIA LwAELSTEg) &Srer &OrremwrNosemn©ear
auler&D s
Examine the causes of drug abuse
52) &) #&Pye 1w gorer 9w wen@Pwl/E LoTsIMulen et
wsIMulLs Assess the damage caused by the acid
rainfall on environment
53) gr%gZE prM] @svopule UIEaTA &pi$en e
@csuw A o) 11000-10000 <) 10101-10001
Subtract using ‘2’s complement
A) 11000-10000

sTAE o
UL A

B) 10101-10001

uifid¢ - @ SECTION-C
(eulfieucms eulemoL wemi&$s A euleorom
6U 6 5)
(Detailed Answer Type)
$mIM]1: Note:
i) eAQeauorq alorcrald)PA 250  @osor)s &S
wisorwe allew L werl&sEA.
Answer not exceeding 250 words each question
i) 2AQcaucrq] alarcral) FA LsTswCar)  wsIMEASLYosA
Each question carries fifteen marks
III) QoasorTL&SMUELAer /L
9,¢ alaror&s & &D wELA el werl&sEA.
Answer any Six questions only out of nine questions.
(6X15=90)

alleror&serie  srTemCeau@ow P A

UNIT -1
54) gsu‘iﬂ$ seml/E CowAucTEgG) D LGU)‘:’!__9$§, @se semsveaud

@AEG ewrn sw eubser T/ELSIHOTST aursLCT I m 1916A
=2, %{
T YUE COFUS.
In India, examine how the various socio-religious
organizations and movements uplifted the backward
Muslims in the National Scenario upto 1916.
56) wsor$wor 50r)s59 I #9p)s reue s svaud
wELwesv
wormors WwWIS& FID)s FSa QCuCTIlanrcrsoryr FPJsA[
$sucrs?”
GoGoev ®PMUEL euor&s w$sIE o gMusnorwle
HOm) B NIwgsA
s lweral) sors QoueTYlerorgsorrA w) EA s35559) D
=24 0w
@z:izg,c::,r%g@c:m @LTOTUs.
Mahatma Gandhi was not only a great political leader but
also great socio-economiuc reformer? In view of the above
statement evaluate Gandhijis contribution to the economic
and social spheres of India.
UNIT -1l
57) M CPauswevemewr Q-¢A R-A Gosd)
Coprdsie
Pwore Qesuw@gldA P-JA Q-¢A Gosl)
GO euem CeVem O wi

12 porEserle @osu

QosuA 9Cos

B0

@g8&s @gIAA. 960°wBA R wELA
9B%s Gosusmsvsmw 60 porTEsarie @g&s @glA
sEpere Q-

aucre a$semoar porEsarie 9)s GlausmCwsamow @JI&s
@g1A?

P can do a work in the same time as Q and R together. Also,
P and Q together can do the same in 12 days. R alone does
in 60 days. In how many days can Q do it alone?

58) 11 @1 sup&sorswsvwle FpIMUNEL oI poperie o[
&0meuevd sutrsaTNsarl/E CoausPewogs BGosOTsem e
QoFus5OT. eud
BogorgmemOer Q°FUs5160 eutrasearNsarl/E CG0eusNgserle
BI5@6°6eu Y0
vEgwe 5780y Qosor{&sMuELAer

) 70 A
GoousA
B 20-29 30-39 40-49 50-59 60-69 Y-
& G wBA
ILoesrl)
o N A
| 14 23 28 35 52 8
61 Yo swrl&em © a5

2 autrsarPew©5& Fwar*TuM] @e»opule
Go5J)@05L&DA

Gour 95/ CCeusA

9) 69 &9 el -2 eul 95 NHLOOTS

<) 20 590 oo NuilsvNqT)
@) 60 &N/ oewI&TA Dew O meucras
)40 &9, 0%/ Loswriwilev AT
AT Spesal pls@ssalenar &% Lulg
On a Particular day a policeman observed vehicles for
speed check. The frequency table shows the speed of
160 vehicles that pass a radar speed check on dual
carriage way

39 59.0% oswtl euem O

69 &9.0% Loewtl euem O

Speed (Km/h) 20-29 30-39 40-49 50-59 60-69 70 &
above
No.of. Vehicle 14 23 28 35 52 8

Find the probability that the speed of a vehicle selected
at a random is

a) Faster than 69 Km/h

b) Between 20-39 Km/h

c) Less than 60 Km/h

d) Between 40-69 Km/h

UNIT-lI
59) gudewosule 9mow)sIMEDA HgMuse oL allenosseriE
g6°% DA SAEDIew ar& ®mA. aulfieucrs eller&Das
State and explain in detail any three of the fundamental
forces in nature




sT/Em 9 gMusn oL wle Q,G*i‘u_l‘ii’rr$g,‘iﬂ HorF uYogsen M
I ol &
Write about Ayothi Dasa Pandithar as the First Champion of
dalits upliftment.

55) g)sIwcrale 00aAG g suw s GuEsNsA
stAalsA LI sN&Nw @asevCTwNuwi& &933$66)C’§ GogaFluws

gjeraule

60) soreacran& wIEs0$s5IUE suswiflsdwrer LwAE
,_,i::n—Egm::;m

sulleufi

Discuss the commercial applications of Galvanic cells
61) verslsanE aicT@&mos GowAucrtEge sorairNseri/E
uNQJ

I elfieutrs sFlsgA

Enumeratethe importance of plants in human welfare

62) weorls o,Coror&swuSsNe &) E& PBipsvIE LNsAen Ssor

auler& D
Explain the role of environment in human health




15) 9 EGsrewra stAEmTE eTAEGT?

PAPER - " What are latitudes?

GoBIA: 3 nevorh Q LDIT$5 Y MOcLZEHe: 16) uorenopM LgE sEUSAE @ouCTTA wor ?
300 What is meant by Regolith?
Duration: 3 Hours Max. Marks: 300

uific - oy SECTION-A
(&8 #InIw eTeulE eulemoL WeTi&$ A euler-m 6uemn:&)
(Very Short Answer Type)
$mImM]: Note:
i) 2ACarcTEpI)TA 30 QoFor) s L&D
wisCrwe eulew L werl&s EA.
Answer not exceeding 30 words each.
II) AT aulesr®reul) FA SAE s IMMECLYosA
Each question carries three marks
i) @esorL&sMUELAar @Mu$swos) allsror&serie
Te»CauBow A @Mu  alaror&s & wELA
aulew @ werl&s E A.
Answer any thirty questions only out of thirty five questions.
(30x3 =90)
UNIT -1
1) BHTOTEFANWNE suMleucru&sorer eufi #orrors ous°rrNasA
wOren ©eu?
What are the non-tax sources of Municipal revenue?
2) 5959 QopI&sgsww ulrs. aMuLS$ sug)sOrer
91gbsaTNEA wrem©eu?
What are the grounds for the proclamation of Financial
Emergency?
3) A3 refuwsven CwMule’ 5 EL_susn CamMuD 5 NasA’
sTAELg A
QoucTYlemCor suewCruig
State the meaning of “ Scheduled Areas” In the Constitution
of India
4) orswevsncowM] GewCeaM]& FELwAwdpe sEpore
T E6ur?
What is Legislation to Supplement the Constitution?
5) 9rFNuwisven C oM ufisor@orcanfiencw LA 60°50rJ]ew L w
w5 M
CoLrTen O ewTHA Wrem eu
What are the writs associated with the Right to constitutional
remedies?
6) ‘GSNwCT, oHTeu LuCTIBHA, eTHIsvNsaTIAE
RO Nwwors GIE&SA” orauisven ©woM] eulls 1
®EausIVE 5o1&sNsewCar SEG& sorELs
“India, that is Bharat, shall be a union of states” — Point out
the implications of this Article 1 of the constitution
7) “@cwuul&sMuEL SaupOrer pLI®OF" &&ors I 2 & B2
SN ED B5NusNewCw B*&BA CICFUeIB ) % Tesr
O Nuwsven CM]FoTd aulgs ) @ew O maA wTenCeu?
What are the constitutional Provisions to remove a Supreme
Court Judge for “proven Misbehaviour”?
8) @) s Nw grausvsn < oM] &EL$g<ﬂe eTMBouor
9 GMuen© L sewL_waA COFJ&sMuEL ?
When were the Fundamental duties incorporated in the
Constitution of India?
9) @)s9w 2 & s EnSsie GIETA Gouve
@s»epuwLsanlE suswossemar aufienaeMu{$ s
List out the types of appeals in the Supreme court of India
10) s 5 sanl&mosmwlE TnI&EosorA LD O¢s
State the objectives of Social Audit
11) u&ew @ euf awOr J&sA wrem Ceu?
What are Green Houses gases?
1 2) @erA sTEsm s sweuTi¢
Define Ethnicity?
13) wor&uf{{se afFusw®s susmrwgd E&I[&swors afl &
Define pollution and briefly explain




17) susrl 0% 0$s9e H@ororror GouorfiuedE sAsaiorg
2 %L rHAED
How the Aurora borealis are formed in the atmosphere?
18) porlecatEL J#E 50o1) & aAaiore o TautrsEp ?
How Norwesters wind are formed?
19) ‘uem orfifE wigA’ steor 9D NWMULA & o1 ? g/E?
Which of the river is known as “Sorros of Bihar?” why?
20) g)s9wcrale uerE plsoMuBsN a/EE s1)s uD5A
9w O p&sMuLsNVED  ?
Which part s called pat lands in India?

UNIT-II
aul Yo swMugorrdasA 5B QosorL&sMuE L Aar 21
@se 27 suswor]Aer HL0I@ [QEITSIE] g1l aulesror&sA
(gesv ) 28 @se 34 aswordAst oNsdsw @Qoworpd

alaror&sA Gem ausanie g8 s DA [

QOO mrLp sullesrOr& a6 o wELG%w Gogle QoFu

aulew L werl&sEA I Qoword  alaror&semar&  Hev)

Gogplg QCFrUwW&®L_Or

Applicants may choose either Q. Nos.21 to 27 given in Tamil

Language (Or) Q. Nos,28 to 34 given in English language.

Applicants may choose one set of questions from any one

language and shall not select questions from both

language.
$09@Q aleoror&s ZE&D FAPIAPBA (e ) 9 Nssv

alleoror&s Z&D 9 NsNevSsNTPBA LELA alewor wel&sEA
Answer Tamil Question only in Tamil
(or) English question only in English

21) O Feal, em eauenren GCBMINsZE&D @ew L uwilsvCresr
QrYeL sTMIsor&s Goaugucr{semear afl &

22) @) 59 aulpor-alar&sA 5T

23) aosMGoLLsA - BpIM] auewors

24) w»osar sowA FnIMULA 2)50$mOssA wWOTeDOou?

25) ‘FI$s5NrsorgM Jeu? - DpAIM] euewres

26) DHOpA Lord&s9e &IPA Gesmos sfEusnCgs LuIDI
DnIM] sweumas

27) FS 5 &‘i«'”J,d_ry‘iﬂﬂ$g>& I[P &sem»Oerd SA uoT_esA eupd
QoeuemMu{ $598cword worend?

(SIEV ) (or)

Comprehension:
Read the following passage carefully and answer
the questions given below:
The greatest enemy of mankind, as people have
discovered, is not science, but war-science, merely reflects
the prevailing social forces. It is found that, when there is
peace, science is constructive: when there is war, science
is perverted to destructive ends. The weapons which
science gives us do not necessarily cause war: they make
war increasingly terrible. Till now, it has brought us to the
doorstep of doom, our main problem, therefore, is not to
curb Science, but to stop war-to substitute law for force,
and international government for anarchy in the relations of
one nation with another. That is a job in which everybody
must participate, including the scientists. But the bombing
of Hiroshima suddenly woke us to the fact that we have
very little time. The hour is late and our work has scarcely
begun. Now we are face to Face with an urgent question —
‘Can education and tolerance, understanding and creative
intelligence run fast enough to keep us abreast with our
own mounting capacity to destroy?” That is the question
which we shall have to answer one way or the other in this
generation. Science must help us in arriving at the answer,
but the main decision lies with ourselves.
QUESTIONS:-

28) Who, according to the writer, is the real enemy of mankind?

29) How is science used during war and peace?

30) What is our main problem?

31) How can we stop war?

32) What did the bombing of Hiroshima wake us up?

33) What is the urgent question, we face, now?

34) Where does the main decision lie?



UNIT-II
35) ‘g %swme sor)59 plmcard ol ' - IpIM] ofl
Write a note on “Annal Gandhi Memorial Award?
36) salarfifE alMMu @5 05crrNse» & Bp ML s
State the discretionary powers of the Governor
37) 0S5 usstlworerd Goglarcren© awrui$sAE
s Aem_&sNasA wrenosn? Whatisthe composition of
Union PublicService
Commission?
Define Money Bill
39) woralEL s=s pev gPBaufiE uslsA Tpa$  s9¢
DnIM] eweurs
Write a short note on functions of the District Social Welfare
Officer.
40) Tewom)suEs GogemausA s9ELA Tpa$
afl &
Write a note on Minimum Needs Programme (MNP)
41) > w5 aiNs FpIMUNLA pe oL sulE o¢ Fpauw?
{&A wrem»©eu?
What are the six indicators of good Governance according to
world Bank?
42) uCrrorEwhEm 959 9505 TrNsemCarM L) m9 &q[&H0CTss
afl &
Write a brief note on financial powers of the Parliament.
uifid - oy SECTION-B
(M&SBoMS aulemoL WeTi&SA GUITCT 6U6mo8)
(Brief Answer Type)

38) 5959 WEoFCTHOT - e CTWIE?

s DmM]

$mIM]: Note:
i) 2AGCarcrY]  allororel) SA
wAsorwe saulewCLwerl&sEA.
Answernotexceeding 120 words each question
i) AQcauorl alaroral) A
sTEL s IMeou YosA
Each question carries eight marks
iii) @osorL&sMUELAar us900sEL allarcr&serie
6Tew ©euGows D A g %ewm Veor)
allearor&s Z & WELA alewoLwerl&sEA.
Answer any fifteen questions only out of eighteen questions.
(15X8=120)

120 Qesonr) st &

UNIT -1
43) gPBaie Qowoeryd o aTwPsVE usisenCear allaucrs
Discuss the functions of the official Language Commission
44) A)aw uerTrorZEwm o EMulardserl/E 5T5%5A wIEA
D5 NulEen waA L) DA aulen&Ds
Explain the qualifications and
membership of Indian Parliament

disqualifications  for

45) BHroTEFNsariE suleucru 9,5°TrNasenCor aullen&D s
Explain the sources of income of Municipalities

46) @A) s Awcrale w35 Nw-oCTHE N6V
9| 1&a ¢Z &5 e O 1L_CC wiws©mesr B959 2_memOeu u)mA
allarors9&s.  Discuss the financial relations between
the Union and the states in India

47) w$s9w S5 BeV sucrfiu$s e @8&sAwio e
ufigsemcar JA 9sLE  usmilsswosr JA  alar&Ds.  Explain

the important divisions and its functions of central social
welfare Board.

48) g) s 9wcrallE alascru$encs LOTSIEDA soTremTisA
worem Ceu?

What are the factors affecting Agriculture in India?
49) oy QOLTHEHO/E spaissA wrenSar?

What are the different types of rainfall?
50) uerewmopasnoar ausmosMuL P59 aular&Ds

Account the types pf rocks and explain
51) @) swcralE Qudswos sorairNsalE uraismosoM L) DA
afl &

Write about distribution of natural vegetation in India

Applicants may choose either Q. Nos.53 to 55 given in Tamil
Language (Or) Q. Nos,56 to 58 given in English language.
Applicants may choose one set of questions from any one
language and shall not select questions from both language.
s9Q alearor&s & FwAAPIPBA (e
aleror&s Z&D 9 NsALSsABA LELA
aulew oL werl&s & A
Answer Tamil Question only in Tamil (or)

) =N ew

53) English question only in English

Write about renewable energy in India

UNIT-II

allYoemMugorrdJasA  &TC0 QosorL&sMuUE L Aear 53 @s
55 auswor] Aer SI@ QoworpT ealerTor&sA (9esv ) i
@se 58 susmordAer  Ns9sv  Qoworp®  aleror&s
QewCausarie gGos5 DA [
@CLOTLp aularor&sem Car wELGow Goglgg QO
allew L werl&sZA QI Q°word eulertr&sem Cen& sHev) Gosd

QoFUWE&®L_Or

P ol

&



SN @ [ °7) EMusw oL I IMulLA CAEE CogorporLe-
YR ASES

54) § %o woremosw - TpAIM] auswrs

55) e pordsale su9@ aerldés Gna$  ofl s

(opee ) (Or)

56) Make a précis of the following passage:
It is proved beyond that women in modern India can be
good administrators. Women rulers like CHAND BIBI,
Elizabeth and RANI of Jhansi proved to the world their
solid worth. They ruled most efficiently and brought glory to
their nations. Women are intelligent and hard-working.
They are not frivolous and light. They take up work very
honestly, sincerely and earnestly and they put heart and
soul in their work. It is very fortunate that we have in India
educated Ladies who are very keen to take up
administrative work. We are amazed to see what wonderful
work they are doing in offices of Central Secretariat as
Reception Officers. It has been observed that they are very
quick to understand and very efficient in work.They have
won an applause from the bureaucracy. Moreover, they
cheer up others: what a sweet smile, they can win over
others to their point of view. All important services have
been thrown open to women. They are competing for the
Indian Administrative Services, Indian Foreign Service, and
many other important fields of life. Very soon we will be
seeing women as magistrates, judges, revenue officers,
income — tax officers and so on. Women are cool — headed
and they ponder over important issues. They are
dispassionate, objective and impartial and never a see
things in a mother Light. Their minds are unbiased and
unprejudiced and they can be generous even to the extent
of forgiveness. It will be seen that women will be good
arbitrators in serious disputes and they would like to avoid
bloodshed and acrimony. By means of peaceful discussion
and negotiation, they will be able to solve their problems.
Mrs.PANDIT has been a very successful ambassador and
she has raised the prestige of India very high in foreign
countries, Women are good diplomats and they can display
their diplomacy in important key posts in the Indian Foreign
Service.

57) Make a précis of the following passage:
Socrates taught that the man who is master of himself is
truly free, By being master of oneself he meant first
knowing oneself. One’s faults and weaknesses and one’s
good points, without making any pretence and without
being vein, and then being able to control one self, Thus
knowledge of himself was what helped a man to be
courageous, and the courageous man has a very important
sort of freedom from fear. Socrates himself, because he
was not afraid of the consequences, always felt free to
teach what he thought was right, however unpopular this
might make him with the powerful people in Athens. No
wonder all his pupils loved Socrates. But the made some
dangerous enemies by his strange ways of teaching and
asking questions. Some of the rulers in Athens did not like
people to be en courage to ask too many questions for fear
they would begin asking questions about what their rulers
were doing. So they accused Socrates of teaching young
men wicked things and leading them to throw off their
religion. This was false, for in fact Socrates was a very
religious man. At last, his enemies had him arrested, and
he was condemned to death.

58) Make a précis of the following passage:
Did you know that India has over 100 million children under
the age of 15, who are forced to work instead of studying?
Their condition can at best described as slavery, Every day
more than 11,000 of our children below five die of easily



preventable diseases; 40 percent of those who survive are
malnourished; four out of five children of school going age
never step inside a classroom.

There are the children who live in utter depravation and
neglect in our streets and villages- children who have never
known a day without hunger who do not have a shelter they
can call home: for when education is an undreamt of luxury:
who do not know what childhood means.

The issue is: who takes responsibilities for these children
today? This responsibility is mine and yours because this is
our society. A society is just a bigger family where people
depend on each other for its smooth functioning. These
children who suffer belong to us.

We must provide for these deprived children their basic
rights to food, shelter, education, health and a bright future.
Why don’t we start by providing the poor children in the
Neighbourhood with decent clothes, and teach them basic
Mathematics, English or science? Why don’t group of us get
together and collect old books, toys and clothes or medicines
or just one rupee from each of our friends and donate these
to organizations which help the deprived children?

This certainly is not a small or simple thing you are going to
do. In fact, it is a big step towards creating a beautiful world
for our brothers and sisters.

UNIT-I
59) SI@QBTEgE Q05 TpAsvs GOwALCTEg) & Tesr
@se» s Car& KEG& soTEL s
Point out the names of Industrial promotion Agencues in
Tamil nadu
60) worpEAey SOV P& Q0FwesESSVE usnTisen e
aler&Dss
Explain the functions of State Secretariat
61) wrBpsHe uAMGoLTd ssaue s»oww$ (SRDH)” £E
Gopor&sNasen oM LEguwievLs.
List out the aims of State Resident Data Hub (SRDH)
62) LD Aar 5IELIEL BEDTS$ CGogemCaruiCrearen CausA
DpI$ opuU¢ QOFUs
Examine the pre-requisites of effective planning
63) @)s9w Tgfismow sELA, 1955 @AE ug Dg = fiewow
@Qoum euem s QCFUJA 2)
alarfi&sEA.
Explain the five modes of acquiring the citizenship as per
Indian Citizenship Act, 1955.
uific - @)
SECTION-C

(eulfieucms eulemoL wemi&$s A euleorom
UM )
(Detailed Answer Type)

a1 I@e» O pasew ar

$mIM]1: Note:
I) ACCuOTY]  eulesromeul) DA 250 Qosor)st&D
wiscrwe alem L wernl&s g A.
Answer not exceeding 250 words each question
i) 2AQeaucrq] alarcral) FA UsIswoar) s IMEASLYosA
Each question carries fifteen marks
III) QoasorL&GSMUEL Aar AL
9 ¢ alaror&s &3 wE{LA alewoLwel&sEA.
Answer any Six questions only out of nine questions.
(6X15=90)

alleror&searie  srTem@auGouw A

UNIT - |
64) A)aNw ®EL orEswle ) puwcrEss ®¢EsA
D%
Describe the unitary features of Indian federalism

sulleufi

65) 1955 o9,A 9, %gE Bglfiwcw sELSewos aleufi?
Elaborate the Citizenship Act, 1955

66) Qu ) ewos auarNsewoer LT 5OT&S

Goeu% gusIfE SausubsIemear alear&Ds
Explain the need for conservation of natural resources.

Aemoev woT&uULFemOsoM L) DA

UNIT-1I
al %% emMugscrrsA &P@Op Qosor{L&sMuUELAer 68
@se 69 susmorJAer SHL0N@ [QIITAIE] g1l aulssror&as A
(9jesv ) 70 @se 71 suswordAsr o Nsfsw QTS
alaror&sA GemCausarie g8os DA o[
QOO mrp sulearOr&asem C e wELG>w Goglg QoFu
aulew oL werl&sEA I QOO rLp aullesrOr&assem Cor& H6V)

Goglg QoFrUwWE&®L_Or
Applicants may choose either Q. Nos.68 to 69 given in Tamil
Language (Or) Q. Nos,70 to 71 given in English language.
Applicants may choose one set of questions from any one
language and shall not select questions from both language.
$9@ auleroT8s ZE&D FIAPIAIBA (e
alleror&s & o Nas9wSs9BA wELA
aulem oL werl&s & A
Answer Tamil Question only in Tamil (or)
English question only in English
68) ‘cusrA 5o BA s0ApsA”’ TIA ®IpAenCar LroTUS
69) g MuscrA EDIpor%gLE swI@ @Ge&sIw
suerd&sAuwillem ©sor aulleufi
(e )
70) Write an essay on the following
Linking of Rivers — need of the hour

71) WhatsApp educates the people and enlightens them on
various issues? Discuss
UNIT-III

72) ulrsA )5 AOFi 9{$s‘usv<£6$g,‘iﬂﬁE worm9 oA
uNa& e @ et Log IMulL s
Evaluate the changing role of Prime Minister's Office —
(P.M.O)

73) @) swcralE wIE 5P g Zosule 'TguwsA- ssae
@ogsryle ¢Eu Goprg @CsrJemou’ o ¢4 QCFuw

) @uNa&ev

(Or)

BGo)@os T Y% LAsr BLug&mOssA wWOTen Veu?
Through E-Governance, What are the various measures
taken to ensure ‘Citizen-IT interface’ in India

74) aur QoFevg FAELA U TpaIM] 5T
Give a account on Budget.
PAPER - 11l
Qoon$s LsIMAcLSse: 300
Max. Marks: 300

uificd - & SECTION-A
(a8 #InIw eTeulE eulemoL WeTi&$ A euler-m 6uemn:&)
(Very Short Answer Type)

GupBIFA: 3 Lo6vorl
Duration: 3 Hours

$mIM]: Note:

I) 30 Qesor) s FE&D wisorve allen @ wearl&sEA.
Answer not exceeding 30 words each.

i) eAcacTl alarcral) TA SAEE wsIMALYosA
Each question carries three marks

i) osorL&sSMUELAer @MuSswos)
TewCauBow DA @MU ealaror&s £&D wWELA
aulew @ werl&s E A.
Answer any thirty questions only out of thirty five questions.

(30x3 =90)

auleror&serie

UNIT I
1) 9 Y%ewCvuwle 6°sorNsMuEL ‘@%FCerucr&uwor
SIEL $5NE TBI&BosTA T ET?
What are the objectives of the recently launched ‘Saubhagya
Plan’?

2) 9 Yosm» O uille, SrFVE B9 2 seul L /E
SIELA SwI@p TEge
Qogor NsMuEL . @$s9ELA u)n9 &M[&swors ofl &,
Recently the Central Government sponsored scheme
‘Antara’ was initiated in Tamil Nadu.
3) ‘BeLOTAFOTE” L) BpaIM] e fl &
Write a note on “Kalamsat”

4) 2017&somrsor

w$sNw
QosweufA ' gL orror

B0 Lpas 9T A A Ceuuwi©mrd

Write elaborately about environmental pollution.



Who was conferred the Avvaiyar award of the Tamil Nadu
Government in 2017? What is the significance of the
award?



5) &Gosor AasNwor s9ELA stlEpore

sT/E6ur?
What is LIGO India project?

6) o %ewovuwle ucrTsIFEsOTelw o &sBisAU0EDA  a/E
ulrsiod peutr#FE Q0agfIMewcu 5T5N)I) meud sTEE ®pAwr ?
Why was the Prime Minister of Pakistan, Nawaz Sharif,
disqualified by the Supreme Court of Pakistan recently?

7) A££ or B5A B Ur&sswCer LD #9¢ BpIM] HT[s.
Give a brief account of the Teesta river water dispute.

8) ®ELr& por{sartre 9 %ewcvuwle 6°sorNasMuEL
‘uE ge swojws’ SEL $HE CGopr&sA st sT?

What is the aim of the ‘Peace in the Home’ program
launched by the Commonwealth recently?

9) @)sIuwcrale @se o ard
BIewCeLwA LI PN FONE Do AIM] suewCrss.

Write a note on India’s First All-Women Staff Railway Station.

10) s09@porL  ealewcerwcrEL eauf J G.eoE&wswrerl/E s
ubs I ForgemCaraA UIDI oafl &,
Write on the recent achievements of the Tamil Nadu athlete,
G. Lakshmanan.

11) 601 NG sru&&se0/E T BsA wiren©eu?
What are the symptoms of Dengue fever?

12) ®Fsvore 5%swovule @osor NasMuEL  ‘Project owl’
oA erfl s,

Write on ‘Project Owl’ launched by Google recently.

QouY% eampuwid ruwle

UNIT I
1 3) aufis TINDA S st/AEmre st/Eesr?
What is mean by taxable capacity?
14) uewt& QCHOTAe» CHWIAE Copor&sNasA wCren “eu?
What are the objectives of monetary policy?
1 5) w&&sA Q05T Os L J$F) sTEDTE sT/AESOT?
What is density of population?
16) 2 ABSTEL& sl 95°rrNsenCor SmAIMulLss.
State the sources of internal public borrowing.
17) ecuor $ oop pIZeucrNsallE UND elsv&ssoE

OpoT&BNSA wWiTesCeu?
all’rir’at are the oB’jeG(?tivséJs of Disinvestment of Public

Enterprises?

18) wsNerOr  &NevworTlE  FOTF&sNsrfE
(MKSP) ) paw s9¢ SpIMulenossr$ 5TTs.
Give a short note on “Mahila Kissan” Shasaktikaran
Pariyojana (MKSP).

19) GosuaniporEL @s&XEL  suswosullenoer

ufiGowergerom

J&sE&®gw
BSAZL
sorremiaA ) EA GFlewou sOrremrlaA woTemCou?
What are the ‘Pull’ factors and ‘Push’ factors which work to
attract foreign Portfolio investment?
20) @) 59w SreerNaSsVE pIsIM L) Dor&Den©muwill/E
5)Boucremsuw pIsmvwlew Cer$ HI[s.
Give the recent status of Indian Government'’s fiscal deficit.
21) @) s9wcrealE pMucTsar auerl&s9$ sAEL NaA
g8°% DA SAEDNew Cer& ®OE 5.
List out any three irrigation development programmes of
India.
22) EXIM aiNs9spow u)m SnaM] orfl .
Write a short note on EXIM Bank

UNIT Il

23) ) 0osorACssA LD BDIMACUFl &

What are ‘Pancha-Sutras’?
24) @ereursA  sT/EmTE T ESOT?

28) SMUEL augtenow si/Eu LI orFl s
Define the term relative poverty.

29) s@sorw @os#EE  (‘Community Chest) a&Eus&E Qoo
9IMTA wr?

What is meant by ‘Community Chest'?

30) F@BOTw GowAueTL SIEL $59E
usstisem Cor aufiew csMuLP  s.
List down the major areas of work covered under Community
Development programme.

31) TADA I plald omAeu  erEesr?
What do you know about TADA?

32) swI@p TEge
HOT) 5
g,"i-"]EL$g,‘?ﬂﬁE Gopor&sNasen ar DpIMulL s.

What are the objectives of MGNREGS in Tamilnadu?
33) @zse psw 6L uEew &% Tesr UN&HeTIM]& &Orrewrisen ©ear

@&sw

TP oT

2 Aer

BT euem eV T U M]

LI')S?DC’L@GU)‘:’;D wle

GOl saryas 2 $sreucrs

@ogfiaul.
Disclose the contributory factors for primary poverty.
34) @) s ANwCreul £
|OTe® 61
o&orT Yo LAdreor?
What are the states in India having more urban population
than the national average?
35) Tp)woss QozorpidamcdA D)oz
sTAuCTE
GooutufLd ou ?
Differentiate between child work and child labour.

TS worpAsoNsA Cogarw Fromafi

el 950 0OTer BBT &Hem Cer&

uswtlem 2w JA

uifid - o5, SECTION -B
(BAMASNCMTSH eulet L wemid s A euleor:m
UM 8)
(Brief Answer Type)
$mIM]: Note:
i) 120 @osor) s £ &D wisorve alewe L werl&sgA.
Answer not exceeding 120 words
i) AQcauorql alercral) FA EL 1wsIMaoLYosA
Each question carries eight marks
i)  @osorL&sMUELAer ug N CesTE L
sTew CeuGouwr » A auleror& s & &D
aulem @ L weml&s A,
Answer any fifteen questions only out of eighteen questions.
(15x8 = 120)
36) 2017-e o 59p&D @)sAworale gduEL
QAP osM I afl s

aulesror&serie

wELA

ug,iﬂm@m)

What is terrorism?

26) suEsw o1& HLOT&FOrrA LD BpAMECUFI .
What is meant by culture of poverty?

27) > . e flsworer al/fE@s»Cp s/EuslE QoucrIlencer alen&Ds.
What is meant by physical violence?




Write about the 201/ North East India tloods.
37) wSHw AL ‘ged) wrSrr HELSHE @8&Hw  AFNsA

sT/EsoT?
What are the main features of the Central Government’s
‘Digi Yatra™?

38) T Goene ’ Foutre Qo5 T JuCresr FS 5

ulr&sen Ceras A s1/Eer? GMulrd&sen ©ar& D &I &% Crer S|
$ &sA 5Ts.

What is the social issue associated with the Blue Whale
challenge? Suggest remedies.

39) GoL_or&esvA Ll &Fem © 637& & < mevT &OmresstA eTAEevT?
GMulr&sFen e w  5° J&s oD ERITi=r w)EA
FPearoreul ) I QewoLuwle gIuEL Mu)s$s0AE

FADMuUAFN e Cor ®OE 5.

What caused Doklam stand-off? What are the salient
features of the agreement reached between India and
China to end the Doklam stand-off?

40) wSsNw s ‘LPG ugsorwu$’ uWIoY SpIM] auemOrss.
Give an account of the Central Government's LPG
Panchayat.

41) sorJ8& & Vewr& GosorerlE  (GSAT-9)
alZeporer @&sTwS audbewos aileufi.

Discuss the scientific significance of SAARC satellite or
GSAT-9.

42) GogAw Dy)ewossA Qoswe HELA® 2016£ @&Aw
®¢HA wremeu?

What are the main features of the National Action plan for
Children, 20167



UNIT -1l
43) s weralE  sutu$sw  euCremriu
aGo5 > A
BOTAESENem Ceor euleufi&ss.

Explain any four India’s recent trade agreements.

44) @) 59w fisJA aNsAWIE LenTaA woTenOan?
What are the functions of Reserve Bank of India?

45) werrla ever euerd&&9 Do AuwPEgemn Cer sulen&Dss.
Explain Human Development Index (HDI).

46) > Aar_ &5 suerJ&FNenowr auler&Dss.
Explain inclusive growth.

47) couer & QosevallE Jeons eilsssmoer alar&Ds.
Explain the canons of Public Expenditure.
UNIT 1ll

SID @ewerehdmeaniA 2 Aer

seMu) sNaserie

48) seal
G euem CeLwlAEe» © oem © wi &

sewOerw FUEsmOar& 5% Lulg.

Suggest some ways by which, the problem of unemployment

among the educated youth can be curbed.
49) 5ol pud Ger  UEewOW&D TAOTE
QoucrEMucrasImord?

How can individuals be held responsible for their poverty?
50) seall

&DA

seal Quwi&sSsVE UNsNw T sudswr&ss.
Describe the role of Sarva Shiksha Abhiyan in eradicating

illiteracy.

51) 6ou%emius sugewow D
o fl .
Elucidate the concept of feminization of poverty.

52) FLAL aE@e»°n&sorar sorreasisenCer aulfigud$ .
Elaborate on the causative factors of domestic violence.

SD9au)dIm$ sE® e ow pEDJausile e areuql

us$sIUE FIADM]& ®EsemOar

53) uor  &orM] s ZEFNVNVE QCFweucTLsemCor L roruUs.
Evaluate the functions of the security council.
ufic - @ Section-C
(eulfieucmss eulemoL wemi&$s A eUleTom 6Uem-8)
(Detailed Answer Type)
i) 250 @osor)st&D wisorwe alewo L werl&sgA.
Answer not exceeding 250 words.
i) Ao alarcral) TA UsNener)
Each question carries fifteen marks
i) Gosorf{&sMUELAsr SEE alloror&sale semoaGouw D A
QYL
auleoror&s Z &I WELA alew@Lwerl&sE&A.
Answer any two questions out of the three questions.
(2x15=30)

05 IME oL YosA.

UNIT I
54) $5)CouCrewmCsw @sNwCrale Q0Fus BAEsusstNsearle
UM O HHA
U
g IMullL a.
Elaborate on the different types of news agencies in India
today and evaluate their role.

alfieuncrs  afFls®  gewCeusarlE QCFweucrtEgesner

UNIT I
55) @) s lwM @‘?3u‘ii’rrﬂsﬂ‘ii’rrg,ii‘rru'$g,‘iﬂe @Cuer
s mwil/E uNa&Aew < eor
sulleurfi.
Explain the role of the public sector in Indian Economy.
UNIT Il

56) uEsorEL  pOZauSsIVE  werls
2 #5902 worpauld’ (UDHR)
Losorlgs

29,8000 rFem Cevrmem Vo aupNas EA.
Consolidate the specific objectives of Universal Declaration
of Human Rights by UN and suggest practical steps of
promote human rights in India.
uific¢ - ¥ Section-D
(SE€emor aulerorm euemos) (ESSAY)

2 fiew 0&s&Omreor ‘QOLCT
Gopor&sNsenCor  aulen&s
o fiew O0sor&ss

@)g)z:ﬂu_,(;,raﬂ{e [56‘0‘)‘:"1;@63')‘5,@

i) Qesor{&sSMUELAar por/ED aloror&saie seooauGow DA
QYL eaulorord&s & Te»om)suEsA =21l
aullesTOrem ©6u PAQeucT[ S E VL | D )
Coz))0es5L$ alwoLwerl&sEA.

Answer any two out of the four questions given below
attending atleast one question from each unit. (2x30 = 60)

UNIT I
57) ‘@)sawcrailkE Gourpag
SIEL $59E @&sNwwnerer 9 AFNsamCar auleucrsI&sEA.

Discuss the characteristic features of the National Disaster
Management plan of India

3| E6V

(gz:vgjg(ﬂu_, Qo evoT Yo LD’

OR

58) comlweiule Bl @ou)d b 2920  12e
worperEgE @&sNw$  aubew©s Q0auan&Q s oranrds.
Bring out the significance of 121" G-20 summit held at
Germany.

2 &FN

UNIT Il
59) e OwemCw  pIMug I sors Cosalw HIAEL
Fflaucore 12%A
)1 % L SIEL$se o Tlouor&sMuEL
2 &5 056w O or eulloJFN&as EA.
Critically analyse the strategy adopted by the National
planning commission to eradicate poverty in 12" five year
plan.
Ew OR
60) S@BOTEL Lo &s el
CowALL S5  Swilps yrsore
oEE Gm‘i3’a;@<3u_1fl$§‘?ﬂEL o)
auler&D .
Explain the five social welfare plans that the Government of
Tamil Nadu signed on February 2017 to improve the life
resources of the eo le of Tamil Nadu.

a_,::::,-r@(ﬂ_,::::,Tg)::::,-rg$5m<ji;§)
HL)S 2017
FS5 'F_I'761)$ SINEL_Ngsew©er

ulMgeufi,
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i) 500 @osor)sZ&D wisorwe alen oL werl&sgEA.
Answer not exceeding 500 words.

II) ACCuCTY aulesrcreul) TA @Mu s ML YosA.
Each question carries thirty marks
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